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Rapid, Urban and Flexible

The car is so popular that it is about to strangle
itself in success. On the other hand, traditional
bus/train transit systems are so unattractive that
they will never be able to become a real

alternative to the car in a society where there < #r
freedom of choice. Something new has to be
invented. Something which is as flexible as the
car, but as efficient as the train regarding
capacity and environmental impact. A Dual
Mode system is able to offer this new
combination.

Modern cities are very low in density. People
prefer to have space around them. It is good for
the children and you have more privacy than in
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Question 1 1/10

Traditional transit systems are unappealing
and cannot displace cars because they are
not flexible.

) (A RGUE
(B) FALSE

C ) NOT GIVEN

AT

Keywords: cars, flexible

JR3C: ¥R IESCEE1EE On the other hand,
traditional bus/train transit systems are so
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Question 1 1/10
JR3C: ITRZIESCEE1EE On the other hand,

E:

R :

traditional bus/train transit systems are so
unattractive that they will never be able to
become a real alternative to the carin a
society where there is freedom of choice.
Something new has to be invented.
Something which is as flexible as the car...

ma—7HHE, TRNAEMKETHAR
R¥ERHRS| N, UEFE—NAILIEHIE
FENEER, SNRERALRRENRIE
BwMm. BIMABRMTLAHEMAT . ENZ
BIRE—HRE......

A B A0 RSO R -
unappealing=unattractive;
cannot=never; displace=alternative;

because=so...that... %X 4202 IR R E
ZIBILWEFo. AL EE FTXEHEIE
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Question 2 2/10

Low density of cities has caused
uncertainty of people’s travel pattern.

Q) TrRuE

(B) FALSE

C) NOT GIVEN
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2y

Keywords: Low density of cities

JR3: XN IEXEE2E& The consequence is that
travel patterns are very diffuse both in time
and in space.

B &R, R T(ER 8 _EF%E 8 _EARIE R
EELo

it AEERIEFRARRNERGE D, REEFL
AiARdiffuse, RABEXAM, BREXT—
A, EXtdiffusefVfiETE: people are
travelling from everywhere to everywhere
and at the time they choose. (Af1E|&bEL
i, HEECIXFELITHE. ) BET
diffuseFLZEIAR AN TEITHIFE R :
uncertainty (RFHEM) « BFHR: T2
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Question 3 3/10

A Dual Mode system like RUF is free of
charge.

'A) TRUE

‘B FALSE

(® n~ot GIvEN

AT

Keywords: A Dual Mode, RUF, free

B BEXHoRTHA. EEREIM AT
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R RXE2E TR R B2 B E 4TI

VAN
Ao

#E: SFHERIF

fRAT: R “RRUPXHER IR R 42 T 28
fe "AZIMIERCREIEFRUFAIARE R, 24T
FRIReEREKRE. FTET—1TER
EBRISA, X, NMiz&ZIEFK, &M
5 TN—#, BEFBHAEIZER S ENSE
Blo AMBBNFESAREEEWE. &
2 NGT

Question 4 4/10

The main part of the trip needs drivers to
control the vehicle in the RUF system.
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.; A TRUE

G raLse

. (C) NOT GIVEN

AT

Keywords: drivers

JR3C: XN IESEESEE The main part of the trip is
automated and the system knows when to
turn right or left and when to get off.

¥ BIBENAKRINEHEENN, RE
FIEMR 5, MRS,

R SERneeds driversB [ & 32 Hautomated.
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fEMT: JERneeds driversX F R S Hautomated.
INELEAES €3, BRERUFR @A
B, Bl. EERABEdiver ATEH., &
=: F1

Question 5 5/10

Low speed during switching can reduce the
radius of curvature.

(A RGUE

B FALSE

'C) NOT GIVEN
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Question 5 5/10
AT

Keywords: Low speed, the radius of curvature

JR3: X IEXEE4EE The reason for this speed
reduction during switching is partly that the
safety has to be extremely high in an
automated system, partly that if the speed
was any higher, and the radius of curvature
would be much higher (it goes with the
square of the speed).

M ARBRNRHERE, BoREEEBSA
BZHRZEREREEEN, THISREZR
MFREREHT, HENFEREKX (R
R ERSEFIRIELE) o

BT REBEBAEEIRRDEATERIE0O) @, B
RELAZXFHFIAIN. XIEMIRE P
B, R, AEE Aradius of
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B, R, FEFE Aradius of
curvature NIATRIERY,, M Ak Al AY 7 15218
fREE R H. K% T1

Question 6 6/10

Many individual RUFs achieve higher quality
than large trains with the same capacity.

(A RGUE

B FALSE

'C ) NOT GIVEN
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Keywords: quality, train, capacity

JR3: ¥R IEEESEE Capacity is more than just
a number. The quality of capacity depends
on the frequency. It is much better to have
a capacity of 20,000 passengers per hour
per direction with many small units than the
same capacity obtained by squeezing
people into large trains.

i FERAUNEARBFHRALAN. RERR
BEFZBURTINR. [/ NSRE BEE
B~ B bR SR AR A/ NR DS ZEIE
&, LRI HE— AR K EREIS
%

i AR “BRZEREMMPRUF C5%) 5E%FR
BAAZEMEE, BERTIEENETEE. "4
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BRI AEMLE, EARESHEFER. "R
A BRUFFTrainf 5 R LR . BEHFIEIE
20000 A, FAKRZE—RIZE]; &2H/N
F, BWEE2A, 1Z100000k. FR3C:
The quality of capacity depends on the
frequency. BRBIZERSNRE. &
= T2

Question 7 7/10

Over-water RUF rail uses a combination of
windmills and solar cells.

A TRUE

‘B FALSE
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(® noT GIvEN

R

Keywords: water, wind, and solar

JR3: XRIEXEE6ER A combination of windmills
and a RUF rail could be used over water.
Solar cells can also be integrated into the
system and ensure completely sustainable
transportation.

#E: RUFBLEFIXBE A N ZEREE AT ATEK
EfER. KFERERBATLAK A R FERAH
EBDZ—, PAMRIETT 2. AIFFERRYIE

B o

AT B/NRSIET, EABRTHHENRIRERX
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AT B/NRSIET, BABTFHRENRIRERX
HREAE—X N, B/INBIEF, INANIZE
RUFEREN AR FEHE A REAEK E. 1EFE
BREX ETXFRIEPVAEREZ: ‘BN
RUFZH R, FTLARTBARERIZEA(D)
B, {RE, XEERJLARA, APFHRERATLEA
. "FHM: “KERUFRZEANEFAK
FRHEERRBMSE & . "2 R SCAI AT RE MR
NG. &Z=: NG2

Question 8 8/10

During bad weather, RUF systems must be
shut down.

( A | TRUE
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A TRUE

() raLse

') NOT GIVEN

AT
Keywords: bad weather

JR3C: ¥R IEEE8ES The special rail brake

ensures that braking power is always
available even during bad weather.

B FRNPEREBRIE, BEESRRS
B, AREMAEBNFE .

AT B/BIENG, AR XANERBT LT
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FRANT: B/NBBIENG, IAAXAIERIR T FLF
5, RRRAZRIBERH. "HEFEX
WHESRKET, ZRAGHNEZIEEEIELE

AN "BREARKAMN. always
avaﬂable%[lshut downapt & X iaAdH. &
2. F1

Question 9 9/10

PRT is an improved version of RUF system.

'C) NOT GIVEN
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Keywords: PRT

R X IEXEE9E: RUF can work as a PRT
system where it is relevant (in dense parts
of a town), but is also a Dual Mode system.
In this respect it can be seen as a PRT+
system.

B ALBAT (REPEBERMTEX) |
RUFZ A ARPRTRE—HTER, BRE
HARBIARFA G HUL, RUFRTEATEE X
ETHRARRIPRT .

AT BRIERIEMARM? ERitHER, +5
=improved version. RUF &4t =PRTRIFH%
o ZZ: F2
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Question 10 10/10

It is the government who should invest in
RUF system.

)
(A RGUE
‘B FALSE
'C) NOT GIVEN

AT

Keywords: government, invest in

JR3C: X IESCEE10E: It will be impossible to
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JR3C: X NIEXEE10EL It will be impossible to

start the RUF system as a system with
privately owned RUFs from the start.
Nobody would invest in a new
infrastructure without knowing if anybody
would like to buy the vehicles for it. For that
reason, it is the intention to start it as a
Public Transport system.

1 FAAWSERUFZE(EAHEITRUF R SR FHim
BRERATH. ETHMEEEZABAN
LEWNAHR T, RBEASRBERE I
HRVEAIRE. B, H/BAREILRUF
FHERAHARBRS.

Rt R ‘NIZBBFRARZIRUFRAZ. "
REEMILELMERE, HARERR,
A J9Public Transport system& R /A3 &
ZREE, PF—ERBUFERM, FAA
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EHREAHEZBRS

AT AR “NZHBBUFRERMRUFR S, "
REEHILEERE, HAREHEA,
1A J9Public Transport system& R A& A 32 7
ZUERE, NRA—EZRBUFERRN, FAA
WATBER A, I TNG. HERREXH L
H S fE i A government : 881
privately (FAAN, BURFRIRX1A)
impossible (&%%) ; nobody&B A (K
FANTEN) =%, 2. For that
reason (ALL) , BERINE, MEEN
public (24f) HWIMBRE. ZAALAE
fiR RS & A H Blgovernment—id, 1B
HEIMTERXIA, BHEE. AWBAILR
ITEHNER T EEE A Kk X IR R U
BE, X ETSCAMIBMMEE . BR:
12





